
CHT 212 
Problem Set 1 Solutions 
 
1.  Assign oxidation states to all carbon atoms in each molecule.  Determine whether the 
transformations are oxidation, reduction, or some other process. 
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This is an oxidation, just like we 
discussed in Ch. 12. 
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Hydrogenation is a reduction. 
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Halogenation is an oxidation. 
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Some other process 

2.  What reagents are necessary to accomplish the following synthetic transformations?  These 
may be multistep syntheses.   
 

1.  H2O, H+

2.  CrO3, H2SO4
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1.  OsO4

2.  CrO3, H2SO4

O3 / Zn, H+

LiAlH4

1.  LiAlH4

2.  PCC

 


